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QUESTION 1

You are connected to a recovery catalog and target database. You execute the command: 

RMAN> CATALOG START WITH `/disk1/backups\\'; 

Which statement is true? 

A. It lists and catalogs all valid data file copies, backup pieces, and archived logs that exist in all directory paths with the
prefix /disk1/backups and their subdirectories. 

B. It lists all the data file copies, backup pieces, and archived logs cataloged in the recovery catalog in the
/disk1/backups directory and its subdirectories. 

C. Only valid data file copies, existing in the /disk1/backups directory, are cataloged. 

D. Only valid backup pieces and archived logs, existing in the /disk1/backups directory, are cataloged. 

Correct Answer: A 

 

QUESTION 2

Examine the output: 

SQL > ARCHIVE LOGLIST 

Database log mode Archive Mode Automatic archival Enabled Archive Destination USE_DB_RECOVERY_FILE_DEST
Oldest online log sequence 376 Next log sequence to archive 378 Current log sequence 378 

Which three types of files are automatically placed in the fast recovery area? 

A. Flashback data archives (FDA) 

B. Archived redo log files 

C. Control file autobackups 

D. Server parameter file (SPFILE) 

E. Recovery Manager (RMAN) backup pieces 

Correct Answer: BCE 

References: http://docs.oracle.com/cd/E11882_01/backup.112/e10642/glossary.htm#BRADV526 

 

QUESTION 3

Examine the initialization parameter that is set in the PFILE: 

DB_CREATE_FILE_DEST =\\'/u01/app/oracle/oradata/\\' 
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You execute the following command to create theCDB1. container database (CDB): 

SQL>CREATE DATABASE CDB1 DEFAULT TABLESPACE users DEFAULT TEMPORARY TABLESPACE temp
UNDO TABLESPACE undotbsl ENABLE PLUGGABLE DATABASE SEED SYSTEM DATAFILES SIZE125M
AUTOEXTEND ON NEXT 10M MAXSIZE UNLIMITED SYS AUX DATAFILES SIZE 100M; 

Which three statements are true? 

A. It creates a multitenant container database with a root and a seed pluggable database (PDB) that are opened in read-
write and read-only modes, respectively. 

B. The files created for both the root and seed databases use Oracle Managed Files (OMF). 

C. It creates a multitenant container database with the root and seed databases opened and one PDB mounted. 

D. It sets the users tablespace as the default for both the root and seed databases. 

E. undotbs1 is used as the undo tablespace for both the root and seed databases. 

F. It creates a multitenant container database with the root database opened and the seed database mounted. 

Correct Answer: ABE 

The seed actually doesn\\'t use anything since it\\'s read-only, but any PDB created from the seed will use the undotbs1
undo tablespace. Each PDB can have its own default tablespace, but cannot change the undo tablespace. 

 

QUESTION 4

You use multiple temporary tables frequently in your database. Which two are benefits of configuring temporary undo?
(Choose two.) 

A. Temporary undo reduces the amount of undo stored in undo tablespaces 

B. Performance improves because less redo is written to the redo log 

C. Performance improves because no redo and undo are generated for the temporary tables 

D. Performance improves because data manipulation language (DML) operations performed on temporary tables do not
use the buffer cache 

Correct Answer: AB 

 

QUESTION 5

Identify three reasons for using a recovery catalog with Recovery Manager (RMAN). 

A. to store backup information of multiple databases in one place 

B. to restrict the amount of space that is used by backups 

C. to maintain a backup for an indefinite period of time by using the KEEP FOREVER clause 

D. to store RMAN scripts that are available to any RMAN client that can connect to target databases registered in the
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recovery catalog 

E. to automatically delete obsolete backups after a specified period of time 

Correct Answer: ACD 
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